&F0 545 i = X 15
IR 4« SR PEER)IHAT RS
S (TR wass @M m oW g [P ACEERTEECEA RS
| A M S AR 00 I P P P TR I B
EFELIA D Mtk L1 2. 450 3. 16 1. 56 1.5
eI o AR B P o A M R —fil 2. 4 SJﬂljﬁlﬁ
RELIS O 1.1 (4l 2. 4 3. 15 1. 5t 1. 5
Pagat P 2 AR B 355 PR D JE Rt DX —# 2. 4580 3. 1 1. 50 1.5
EELIA 0 i 1.2 [ 2.4 34%15E15
¢S IANEEE i Fo S B PR oD F R L X i 2. 4 3. 1 15l 1.5
EFRLIA o Hitkek L1 [l 2. 5t 3. 16 1. 56 1.5
Py LRAHK SR B HB IR PN oD i F L K —{l 2. 48 3. 1.5
EELIA O Hi 1.2 [ 2. 454 3. 1.5
Z| AE 2 SR FL IR N oD B2 P R 3k —l 2. 4t 3. 1.5
EFELIA 0 110 2. 40 3. 1.5
IINEEEYR ik S B A P D f2 B XS —fli 2. 4l 3. 1.5
RERLAA D Hitke
1 [EE2 05 BMmnny 11 [l 2. 40 3. 1.5
2 bRELSt o 1.2 [ 2. 446 3. 1.5
ARG HR B TR LI PN oD 2 T X —fll 2. 4 3. 1.5
LRCEAS: oD Hsg 1.2 [l 2. 450 3. 160 1. 58 1. 5
| SET Etein 40 Llﬁmﬁﬁm@ﬁﬁﬁﬁm%
L FXa48 R SR B P oD 2 P M X3 —fll 2. offfi 3. 20 L. Sl 1.8
ERCEASR D i
1 [EE 2 0 5 FHREW 1.2 [ 2.5 1.8
2 ERCEA s 1.1[# 2.5 1.8
EFay o SR B P 0D o P L UK —fti 2.4 1.5
RERLIA O I 1.1 2.4 32&15&15
L ET e 40 1. 1 |/l bo MBS bh ¥ b e L v
B ap gt 1.2 |# 2. 50 3. 1l 2. offli 2. o)
7z FERSE P2 S BT PN O P2 R i X g —%24’34&13%1&




ST 545 i = X 25
IR 4« SR PEER)IHAT RS
e R ks @ A o w4 [P PEEERTIBEITOGES
% = 2 e & # ®
72| TRAER FCRAS o Hir e
1 B E)TIA ERRG 30 | 1.1 [ 2. 4FE 3. 15
2 LEELIS o 30 | 1.0 [ 2. 40 3. 1
o L4 ot AR BT PN o R O —{il 2. 4 3. 15
_EECLAS 0> itk 1.2 [l 2. 40 3. 170 1. 5 1. 5
A =R gt 1.2 |# 2.5 32mznﬁzn
b e P 3 I LRI N o FE R X |t 2. 5l 3. 2t 1. sl 1.8
_EFRLASh o> it
1 EEswky 40 1. 2 (& b AEE b YET b AT L T
2 _EREEESh o HER 1. 2 /& bb 3 bh YT b T b




